C/V%

C/\>% CN

OEE 308kg (AMRERL)

-3
=
S

85 215

215

Sib-
Raid==ay

70

70

240

Ri==F T

TR~ —

pe==titd

710x310

~ 640X240

) 20|

600%x200

34__ 56

8% 3U20AT 571
i 7

120

150~165

41.6

F0540x140

CTG22

12-32  <o>HE—HEAaTt

(618)

Of &
URADANY R

ey
CEE XL

EHRAIIAHE T,

2.B5RHEK - 50A 1 RERFR. HH820AD 4 RREED
BRCIG222 Y T4 4,

o1t #*

1.HEK50AX 1. HHE20A X 4 [CEALEL
BRICTSTES,

2BHE 4 RDSE 1 TUEIEEE22.2mm
SUSE21.2mm, SGPE15A (21.7mm) |3 F&

LTLET,

3R ZIREREFELTVET,
MMFNIR (D) 134T 3V EBREBTVET,

ABBEFHE

OPmE

N | 88 & & | # & w =

@ | & | FC200 |2—IVIRFViEigRE

@ = FEAN7—Z>14 4tk

@B # # 4X19  t=2

@ |7k L #| SUS304 | MENT—21 4tk

® | +FEmval M5X 15

® | +FIFARL M5 X 12

@ | ALNyF | y0a7Ly | —kEf =2

EIVRVIEER#E | SUS304 | t=2

© | 7Vh—RIVk | SS400 | M10x40

X M N R |79UhlbYIL) t=40 300X 700

@ %7 —L| SEHC [t=16 (RVTH#EiR)

@ | ¥AA7UTERL | SS400 | M10X65 6

® | M8X351E4aL | SUS304 [M8F vk, Ty v—1t
1

gﬁmggﬁ FC | 5—IR+iiss

#1E  50A _

© | EAZE0A20AC CAC202 | Zv b 7OL&oE

i< AVE . | 50A

eaass | C 7Y [0A20AC

20234E9 H %47 No6 4R EHADY JITHSNTEVET,




